
Calendar Answers

1. 7
2. 12 x 2 (wheels per bike) = 24 

£3 x 3 = £9 3. 

Two ladybirds are left4. 

5. There are 3 stars 

6. 8, 12, 16, 20

7. 20 – 12 = 8
8 . A clock showing 6 o’clock 

9 . May

10 . 10, 20, 30, 40, 50, 60, 70 ,80, 
90, 100

11 . 8 + 2 = 10

30. 4 tens or 40
31. 34

18. 81 – 10 = 71

19 . 3 + 3 + 3 + 3 = 3 x 4

20 . 2, 4, 6, 8, 10, 12, 14, 16, 18, 20

21 . This sign means multiply  
22 . Drawings of a square, circle, and triangle 

23. 5 ones

24. 50, 45, 40, 35, 30, 25, 20, 15, 10, 
5, 0 

25. Half of 18 is 9, half of 26 is 13 

26 . 10 – 3 = 7 

13. 63 + 10 = 73 

14. 1p, 2p, 5p, 10p

12. 2 + 18= 20

29. 50 divided by 10 is 5, 30 divided 
by 10 is 3 

28. 5 + 5 = 10

27. The next shape should be a circle 

15 . There are 7 days in a week  

16. 7 

17. 3 out of 4 squares are coloured in, ¾ 


